

NAME: OMAJUGHO SPENCER JEMINE

MATRIC NO: 15/ENG06/054

DEPARTMENT: MECHANICAL ENGR

COURSE: ENG381

Question 1

$$\frac{d^2 y}{d\theta^2} + 4 \frac{dy}{d\theta} + 5y = 6 \sin \theta \quad \text{--- (i)}$$

$$m^2 + 4m + 5 = 0$$

$$-b \pm \sqrt{b^2 - 4ac}$$

$$\frac{-4 \pm \sqrt{(4)^2 - 4 \times 1 \times 5}}{2 \times 1}$$

$$\frac{-4 \pm \sqrt{16 - 20}}{2} = \frac{-4 \pm \sqrt{-4}}{2}$$

$$\frac{-4 \pm \sqrt{4} \cdot \sqrt{-1}}{2} = \frac{-4 \pm 2j}{2}$$

$$-2 \pm j$$

$$m_1 = -2 + j$$

$$m_2 = -2 - j$$

$$(F \dots y = e^{-2\theta} (C \cos \theta + D \sin \theta))$$

$$D. \dots y = C \cos \theta + D \sin \theta$$

$$\frac{dy}{d\theta} = -C \sin \theta + D \cos \theta$$

$$\frac{d^2 y}{d\theta^2} = -C \cos \theta - D \sin \theta \quad \text{(iii)}$$

Substitute (iii) and (ii) into (i)

$$-C \cos \theta - D \sin \theta + 4(C \cos \theta + D \sin \theta) + 5(C \cos \theta + D \sin \theta) = 6 \sin \theta$$

$$-C \cos \theta - D \sin \theta - 4C \sin \theta + 4D \cos \theta + 5C \cos \theta + 5D \sin \theta = 6 \sin \theta$$

$$-C \cos \theta + 4D \cos \theta + 5C \cos \theta - D \sin \theta - 4C \sin \theta + 5D \sin \theta = 6 \sin \theta$$

$$\cos \theta (-C + 4D + 5C) + \sin \theta (-D - 4C + 5D) = 6 \sin \theta$$

$$\cos \theta (4D + 4C) + \sin \theta (-4C + 4D) = 6 \sin \theta$$

Comparing Coefficient

$$4D + 4C = 0$$

$$-4C + 4D = 6$$

$$4C + 4D = 0$$

$$-4C + 4D = 6$$

$$4C - -4C = -6$$

$$8C = -6$$

$$C = \frac{-6}{8}$$

$$C = \frac{-3}{4}$$

or Sub  $\frac{-3}{4}$  for C in Equation (i)

$$4D + 4\left(\frac{-3}{4}\right) = 0$$

$$4D - 3 = 0$$

$$4D - 3 = 0$$

$$4D = 3$$

Divide both side by 4

$$\frac{4D}{4} = \frac{3}{4}$$

$$D = \frac{3}{4}$$

$$y = C \cos \theta + D \sin \theta$$

$$\therefore y = \frac{-3}{4} \cos \theta + \frac{3}{4} \sin \theta$$

$$C.S = e^{-2\theta} \left( \frac{-3}{4} \cos \theta + \frac{3}{4} \sin \theta \right) + \frac{3}{4} \cos \theta + \frac{3}{4} \sin \theta$$

$$\text{at } \theta = \infty$$

$$\text{and } \frac{dy}{d\theta} = 0$$

$$\frac{dy}{d\theta} = e^{-2\theta} (C \sin \theta + D \cos \theta) + (C \cos \theta + D \sin \theta) - 2e^{-2\theta} + \frac{3}{4} \sin \theta + \frac{3}{4} \cos \theta$$

$$\text{at } \theta = \infty \text{ and } \frac{dy}{d\theta} = 0$$

$$0 = \frac{3}{4} \sin \theta + \frac{3}{4} \cos \theta$$

$$-\frac{3}{4} \cos \theta = \frac{3}{4} \sin \theta$$

$$-\cos \theta = \sin \theta$$

divide both sides by  $\cos \theta$

$$\frac{-\cos \theta}{-\cos \theta} = \frac{\sin \theta}{-\cos \theta}$$

$$1 = \frac{-\sin \theta}{\cos \theta}$$

$$1 = -\tan \theta$$

$$\tan \theta = -1$$

$$\theta = \tan^{-1}(-1)$$

$$\theta = -45^\circ$$

Question 2

$$EI \frac{d^2 y}{dx^2} = \frac{w}{2} (L-x)^2$$

$$EI m^2 = 0$$

$$m^2 = 0$$

$$m = \pm 0$$

$$y = e^{mx} (A + Bx)$$

$$y = A + Bx \quad \text{--- CF}$$

to obtain particular integral

$$y = Px^2 + Qx^3 + Rx^4$$

$$\frac{\Delta y}{\Delta x} = 2Px + 3Qx^2 + 4Rx^3$$

$$\frac{\Delta^2 y}{\Delta x^2} = 2P + 6Qx + 12Rx^2$$

$$EI [2P + 6Qx + 12Rx^2] = \frac{w}{2} (L-x)^2$$

$$2PEI + 6QEIx + 12REIx^2 = \frac{w}{2}$$

$$(L^2 - 2Lx + x^2)$$

$$4PEI + 12QEIx + 24REIx^2 = w(L^2 - 2Lx + x^2)$$

$$24REI = w$$

$$R = \frac{w}{24EI}$$

$$6QEI = -2wL$$

$$Q = \frac{-2wL}{12EI}$$

$$4PEI = wL^2$$

$$P = \frac{wL^2}{4EI}$$

Substitute values

$$y = Px^2 + Qx^3 + Rx^4$$

$$y = \left(\frac{wL^2}{4EI}\right)x^2 + \left(\frac{-wL}{6EI}\right)x^3 + \left(\frac{w}{24EI}\right)x^4$$

$$y = \frac{wL^2 x^2}{4EI} - \frac{wL x^3}{6EI} + \frac{w x^4}{24EI}$$

$$y = \frac{6wL^2 x^2 - 4wL x^3 + w x^4}{24EI}$$

$$y = \frac{w}{24EI} (6L^2 x^2 - 4L x^3 + x^4)$$

G.S

$$y = A + Bx + \frac{w}{24EI} [6L^2 x^2 - 4L x^3 + x^4]$$

$$\text{at } y=0, x=0 \quad \frac{dy}{dx} = 0$$

$$0 = A + B(0) + \frac{W}{24EI} (6l^2(0) - 4l(0) + 0)$$

$$0 = A + 0 + 0$$

$$A = 0$$

$$\frac{\Delta y}{\Delta x} = B + \frac{W}{24EI} (12l^2x - 12lx^2 + 4x^3)$$

$$0 = B + \frac{W}{24EI} (12l^2(0) - 12(0)x^2 + 4(0)^3)$$

$$0 = B + 0$$

$$B = 0$$

Particular Solution

$$y = \frac{W}{24EI} (6l^2x^2 - 4lx^3 + x^4)$$

$$y = \frac{Wx^2}{24EI} (6l^2 - 4lx + x^2)$$

$$y = \frac{Wx^2}{24EI} (x^2 - 4lx + 6l^2)$$

When  $x=l$

$$y = \frac{Wl^2}{24EI} (l^2 - 4l^2 + 6l^2)$$

$$y = \frac{Wl^2}{24EI} (3l^2)$$

$$y = \frac{Wl^4}{8EI}$$